REREZAVTRERBRICODVTHEER-E2DI)

BT H L
465,
100Bq. keZF{BZ 5L D0
BREHKE
No BT REH HEDIELE trL-134 tr5 L-137 AEE
Bqg. kg Ba. kg Ba kg
1 AL R5.10.10 FEARLW=IT(HEE%) BREE9(<5.2) 8.50 8.5
2 PETH R5.10.11 BARLWL=T (FEE% BHEE9(<3.3) 456 46
3 FEH R5.10.11 [RARLULM =T (EER) BREE9(<4.1) BRHEE9(<3.5) - danhcac
4 AEH R5.10.11 [RARLUL =T (3R BRHET(<4.0) BRHEY(<L3.7) BREed
5 wmET R5.10.11 BERLW=1F (%) BRHEE9(<5.0) BRHEE97(<3.3) - danhcac
6 Zth R5.10.10 BEERLULM=F (FBE% BRHET(<L5.7) BRHE9(<L5.7) BREed
7 WhET R5.10.11 BERLW=1F (%) BREE9(<4.0) BRHEE9(<3.4) BT
8 ZARWTH R5.10.11 ERLULV =T (5EE%) BREE9(<42) BRHE3(<4.2) BEed
9 EMEEm R5.10.10 BERLW=1F (%) BRHEE9(<4.6) BRHEE9(<4.0) BT
10 RIEF R5.10.10 BRLULV =T (5EE%) BRHEE9(<5.3) BRHEE3(<44) BEed
11 IEHT R5.10.10 BEERLWLM=1F (%) BREE9(<4.1) B®RHE9(<2.6) - daskcac
12 ElIES] R5.10.11 BERLW=F (%) BRHET(<3.8) BRHET(<44) BRHEET
13 EZAT™ R5.10.10 [RAREGH (FEHh) BREE9(<5.0) 20.2 20
14 ¥EmAET R5.10.10 BRGSO (Fih) BRHET(<42) BRHET(<42) BRHEET
15 ISHT R5.10.10 BERGOHZ (FEE%) BRHEE9(<3.6) BRHEE9(<4.0) BrEed
16 ISET R5.10.10 BRSO (FEER) BRHET(<4.0) BRHE9(<35) BRHEET
17 L R5.10.11 [RARE=T(EHh) BREE9(<4.6) 10.2 10




BREHR

No 15 £RE A AHDEHE > L-134 > L-137 BEIE
Ba ke Ba ke Ba kg

18 i R5.10.10 BRAFE=IF (Fih) BRHEE7(<43) 122 12

19 REH R5.10.10 BRARFELIF (Fith) BRHE9(<43) 8.74 8.7

20 T 4ERET R5.10.11 FRARFEL=IT (FiH) BREET(<43) BREET(<41) : Jarhcars
21 =2 R5.10.10 BRARFELIF (Fith) BRHE9(<5.2) B 97(<6.3) BRHEEY
22 m 2R R5.10.10 FRARFEL=IT (FiH) BHEE7(<5.3) BREE7(<49) : Jarhcars
23 =) R5.10.10 RARZFEL=IT (Fh) B 97(<6.5) 33.6 34

24 NIm# R5.10.10 FRARFE =T (Fith) BRHEEY(<42) 15.4 15

25 EREEAT R5.10.10 RARZFEL=IT (Fh) BRHEE9(<5.4) 9.16 9.2

26 ZART R5.10.11 BIREL =T (FEE%) BRHE9(<5.3) BRHEEY(<5.1) BRHEEY
27 FEEF R5.10.10 BEARV ST+ (i) BRHEET(<41) BRHEE9(<35) BRHEY
28 T SERET R5.10.11 BERUST11 (Fith) BRHEET(<44) BRHEE9(<4.2) BREEY
29 FEm R5.10.10 BERU ST (MEE%) BRHE9(<42) BRHE9(<43) BRHEY
30 tRET R5.10.10 BERUST=1T (MEE%) BRHE9(<3.9) BRHE9(<3.0) BRHEY
31 SRIBT R5.10.10 BRE<GIT (HEE%) BRHES(<3) BRHEE (<37 BRHEY
32 T SERET R5.10.10 BRIFALOHL (FEER) BRHE9(<4.0) B 9(<35) BRHEY
33 = 2T R5.10.11 TrRIBHTY AT (BIRE) BRHE9(<5.6) BRHEE7(<54) (> JurkcacH
34 F=EHT R5.10.11 Fox27 (BRE) BRHE9(<8.6) BRHE9(<7.6) BRHEY
35 = 2T R5.10.11 a5 (ERE) BRHEE9(<54) 25.6 26

36 R RHET R5.10.10 7357 (BER) BRHEET(<3.1) 5.71 5.7
37 B340 R5.10.10 T35 (BER) BRHEET(<34) BREE9(<3.0) BREEY




BREHR

No 15 £RE A AHDEHE > L-134 > L-137 BEIE
Ba ke Ba ke Ba kg

38 B340 R5.10.10 XA AT F (ERE) BREET(<27) 8.96 9.0

39 F=EHT R5.10.10 XA AT F (ERE) BRHE9(<9.0) 10.7 11

40 = 2T R5.10.10 NFATF (EIRE) BRHEE7(<35) 3.99 40

41 =2 R5.10.10 NFATF (ERE) BHE9(<6.8) BRHEET(<T1.1) > Jarkcacl

42 EzE= 3] R5.10.10 NFEF=HhI 847 (B4EHE) B 9(<40) ‘e 9(<3.2) : Jarhcars

43 FRIEHET R5.10.11 <A (ERE) BRHE9(<6.2) 15.8 16

44 =2 R5.10.11 YR (HIRE) BRHE9(<7.5) 16.1 16

45 FRIEHET R5.10.11 F/RVATF (EIRE) BRHEE9(<8.4) 9.94 9.9

46 F= 2R R5.10.11 FHAT/ZF545 (ERE) RHEE7(<5.5) R H9(<5.6) BRHEEY
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